Quadratische Funktionen am Graph ablesen

Aufgabe 1: Gib die Funktionsgleichung in Scheitelpunktform an.

a) flx)= b)  f(x)= ¢ flx)=
5 5 5
4 4 4
3 3 3
2 2 2
1 1 1
54321 123345 54321 1-—2\3/45 54282 ~1 12345
-2 -2 -2
-3 -3 -3
A -4 -4
5 -5 -5
d fx)= e) fl(x)= f)  f(x)=
5 5 o
A 4 4
3 3 3
2 2 2
1 1 1
54321 Y234\ -5—=4\-3—2 4 12345 543271 12345
2 52 -2
-3 -3 -3
-4 -4 -4
-5 -5 -5
g) f(x)= h)  f(x) = i) flx)=
5 5 5
4 4 4
3 3 3
2 2 2
1 1 i
54821 12345 -5—=4\-3/-2—~1 12345 54322 ~1 12345
-2 -2 -2
-3 -3 -3
-4 -4 -4
-5 -5 -5
) flx)= k) f(x)=
5 5
4 4
3 3
2 2
5 1
— ——
5431 12345 54324 12345
-2 -2
-3 -3
-A -A
-5 -5

www.schlauistwow.de




Lésung:

Aufgabe 1:

a) f(x)=1-(x-3)2-1
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g) f(x)=3-(x+3)%2-1
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i) fx)=2-(x+2)2-1
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f(x)=3-(x +3)%2-2 i) fx)=2-(x+2)%-1

5 5

4 4

3 3

2 7

1 i
5 \3/2-1¢4 12345 SNANVAS I

2 2

-3 -3

-4 -4

-5 -5

-5—=4—-322

G o R P oESRIWw s

2345 5432

fix)=2-(x+1)%2-1
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